dHRAIRIA-(ER)- 9 H.-1413 / TECHNICIAN-B (TURNER) - POST NO.1413

1)  M24x3mm HiaRe I3 & fov &e & M@ ... gl
The depth of cut for M24x3mm internal thread is

a) 0.5412x3
b) 0.6134x3
c) 0.6413x3
d) 0.5142x3

2) T dF 3o AMT A o a1 aRu/fafa fFe sma g
The taper shank drills are held on the machine by means of

a) ga/Chucks

b) fgwe/Drift
c) Teirew/Sleeves

d) arza/Vice

3) THTA...... forettams gl
One gram is kg
a) 1000
b) 0.01
c) 0.001
d) 0.0001
4)  TH HX .o, HATSHIA & R g
One meter is = microns
a) 10°
b) 10
c) 10°
d) 107



5)

6)

7)

8)

HROREINT 3 @Fael , 25004-001MM yrprr & qre 2570020740.000MM s & B & AT
FT &1 3AFT H SR dH THT Ferld ... grafr|

In an inter changeable assembly, shaft of size 25004-001m™ mate with hole of size
25+0.0207+0.000mM The maximum possible clearance in the assembly will be

a) 10 #&TsshIer/microns
b) 20 #ATssIs/microns
c) 30 AEswA/microns
d) 60 aAEHEA/microns

Teaar T aRAST .o T oo, F 9T & A F FT FH & AT 2
The term tolerance is defined as the difference between the

a) 3erehad AT g H 3mpr/Maximum limit & basic size
b) 3fOeas @er T faFada d@FyMaximum limit & minimum limit
¢) foeas dar @ 7o 3me/Minimum limit & basic size

d) arEdfas 3R g Hof 3mRR/Actual size & basic size

Wﬁaﬁ%mm%ﬁvmﬁmm ............... gl
For mass productlon of threads on bolts, process followed is

a) ¥z ffmThread Chasing

b) Fretftase ¢a/Collapsible taps
c) 293 fAfess/Thread milling

d) ¥z Afeer/Thread rolling

Angle of Acme thread is
a) 29°
b) 55°
c) 60°
d) 47.5°



9) UH Hg GEAKOT AT FIA ...oooeee & A & T T A S g
A soft fine grained grinding wheel is used to grind

a) ®oR g #IR Yard/Hard & Brittle material
b) #g @ d= "erd/Soft & Ductile material
C) ®dR T d=g gerd/Hard & Ductile material

d) #g @ #TR gerd/Soft and Brittle material

10) s s & o5 & ... I AR JTehferd fRaT ST Hehel &
The lead of a screw thread can be calculated by the formula

a) 2 xfa/2 x Pitch

b) srexs xurRst Fr F@Ear/Depth x no of starts
c) T xurer & @&a/Pitch x no of starts

d) BT x 9 &7 exrs/Pitch x Depth of thread

11) feafaf@a & & Fla-ar b &1 qeT 7861 87
Which of the following is not a part of chisel?

a) gs/Head
b) std/Body
c) fSg/Point

d) &1@1/Snug

12) =i Afe R The & 9AET Thel gaS= (9Mm) &1 10FAE amelt & genford fhar Sirar g, ar
ATTIT ST FT HeTdHF FaT &7
If the 9 main scale divisions (9mm) are divided into 10 equal parts in the Vernier scale ,
What is the least count of that Vernier Caliper?

a) 0.01mm
b) 0.09mm
c) 0.02mm
d) 0.1mm

13) SE" U3 Fdd #H, ol P I, 95 F T T ATUROTA............... HA gm|

In external thread cutting, the diameter of the blank shall be generally less by--------------
of the pitch of the thread.

a) 1/8

b) 1/10
c) 1/12
d) 1/16



14) 3renets AR #1 gfady wXe & fow gard A R aqorest L gl
The property possessed by a material to resist sudden load is------------

a) sfaRRan/Brittleness
b) sifa/Fatigue

c) ®oRar/Hardness
d) geear/Toughness

15) TH oY FH FATelT & aGRIA,SNS & g H T & ST gidm gl
A pip in centre of job, while facing operation on a lathe is due to -------------------------

a) 3SR & e Fa1s & o glen/Tool not being set on to the centre height
b) 3SR & Fder HR & seie g/ Tools cutting edge being blunt

C) 3SR & ¢ & & Foiq o1 g/ Tool is not clamped rigidly

d) @&t rpm &1 39Arer/Using low rpm.

16) afeR g WItFeX H NeTdH D .............. gl
Least count of a Vernier bevel protractor is -----------

a) 15'
b) 20'
c)l
d)5'

17) dree 83 o1 A & AU adfds do aa= ggas 9fhar S ue e fae o g & art 3k

T g A T T AR § o gl
The process which removes sufficient metal from the surface around a drilled hole to form
a true seat for bolt head or nut is

a) feafere/Beveling
b) ¥are BRFe/Spot facing
¢) &3 f&fHa/Counter sinking

d) wf¥He1/Facing



18) WrelaR TF oo R R foRar Srar g
Follower steady is fixed on the---------------

a) <o Tefa/Tail stock
b) s=/Bed
c) &3 Terw/Head stock

d) @issar/Saddle

19) 3t T fafadersr 36A 46 K 5 VBE #, 46............... T A &l
In an abrasive wheel specification 36A 46 K 5 VBE, 46 stands for---------------

a) &xg=/Structure

b) sies Js/Bond grade

c) 39adf gwr/Abrasive type

d) 3 3mATI/Grain size

20) U7 gU Y13 & I HUI, Wl Th F AT F AT T TE H FANGT & A G, FH

FEd Bl
Small particles of material being ground become embedded in the space between the
grains of the grinding wheel is called ---------------- .

a) fefeearFilling
b) safSer/Glazing
c) #rur/Loading
d) 9fdGrooving
21) A TqC F HAAT HIT FAGA ... gl

The included angle of ‘Morse taper’ is approximately -------------- .
a) 4°

b) 3°

c) 2.5°

d) 1°



22) g T H HIee HT A .......... gl
The carbon content in Mild Steel is------------- .

a) 0.281t00.6 %

b) 0.05% to 0.25 %
c) 0.65t00.8%

d) 0.1 t00.2%

23) vAfATATH FT TAAR .......... gl
Melting point of Aluminium is --------------- .

a) 450° C
b) 460° C
c) 560° C
d) 660° C

24) 140° ¥eigie &t B3 afeergw & gRafda &
Convert 140° Fahrenheit to degree Celsius

a) 72°C
b) 90°C
c) 60°C
d) 100°C

25) = 06 sy 1 e aF 9w F 7 fram oo 1R ER & R 7 saeaedr g
A 06 "7 hole is to be reamed in a steel work piece. What size of drill will be required?

a) 5.5mm
b) 5.8 mm
c) 5.98 mm
d) 5.99 mm

26) IfE f3or & Foiy T FagrT Sar §, dr ST aRome F41 gen?
What will be the result if the clearance angle in drill is increased?

a) 3feq aor fsRar/Poor wedging action
b) &fror sder wR/Weak cutting edge

c) %&T &g @ag/Rough hole surface

d) afffq &g sovincreased point angle



27) UH Y H oo’ R H1 3682 ... & faw gl
The purpose of tumbler gear in lathe is to

a) R &d=1/Cut gears

b) Rgsar a1fa #r sa s=1/Reduce spindle speeds

c) Rdser feem &t 3eer &e/Reverse the spindle direction
d) Her i AfFwfead aifa Hr @@ e &

Give designed directions of movement to the carriage !1??

28) UH oNg-FreeT ol STAH F Y 3MET ... gTdT gl
In an Iron- carbon phase diagram, Y axis represents

a) et 1 gfaeraar/Percentage of carbon
b) &g #r ufaeraarPercentage of Iron
C) am9AI/ Temperature

d) 3madas/Volume

29) AT & 39A ATAD ......... gl
The best conductor of heat is:

a) @g/lron
b) T=ra/Silver
c) ar«r/Copper

d) TegfAfA/Aluminium

30) 100g% #1RYFd T sider & 0.75gm/cc aeica & 80 CC UGl $RT STl §, Siciel HT Fel R

A bottle weighing 100g is filled with 80 cc of petrol of density 0.75gm/cc, the total weight
of the bottle is:

a) 1759
b) 160 g
c) 180¢g
d) 180.75 ¢



31) ®FU3s Forss Y & @Y AW o6 & Frafaf@d # @ Siq-ar gfdger 82

Which of the following is a disadvantage in forming taper with the Compound slide
method?

a) 9ET SW gl 3cdTied fohw ST @eha/  External taper cannot be produced
b) ¥&9 TR I AgT ST Hehd/Steep taper cannot be produced
C) 3aRe TR =gl 3curfed e S dha/Internal taper cannot be produced

d) 98 Tomss $ YueH db SR dag it ®
Taper length is limited to the movement of the top slide
32) fawfaf@d # & Fla-ar GG A< H AT 78 87
The following is not a part of combination set: -
a) &a/Rule
b) dieerex gs/Protractor Head
c) T3t ¢f¥/Square Head
d) fasrsie/Divider

33) HIUT AT HT IRYET ITERT ... gl
Precision instrument for measuring angles: -

a) fasmsi=/Divider

b) &gt s/Sine bar

c) afsR fegar wieaex/Vernier Bevel Protector

d) fadene A Af=/Coordinate Measuring Machine

34) . CART I Sefll T URhAT & R IAfd shee Tole, ok Bsar g Widee Ife
URT ST Fhell g

Improper crest flat, root radius and profile error during thread forming operations can be
corrected by;

a) wrsfeer/Filing

b) 3mer ader varerer/Further turning operations
c) I garr/by Chaser

d) ufaRer gar/By Emerying



35) fArafaf@aaasla-arwid degar @ 4ot & 3l 3mar 872
Which of the following is considered under the category of “form tolerance™?
a) gEreRRar/Squareness
b) @ahgar/Concentricity
C) "Adedr/Flatness

d) wafafa/Symmetry

36) TS & UH URE W S & P FAT ¢, dd AT Y H FBR ........... gl
The type of preferred thread when pressure acts on one flank of the thread is

a) @ =g/Square thread
b) T =g/Acme thread
¢) @& =gg/Worm thread
d) sreexs =Z/Buttress thread

37) e MR T Tod FORAT F FA A FFafaf@d a1 Iz |
Grade the following in terms of increasing hardness of cutting tools.

1. §rr/Diamond

2. Teomse/Stellite
3. 3=g aifa g&ara/High speed steel

4, By#fea Fretss/Cemented carbide

a) 1,234
b) 3,4,2,1
c) 2,341
d) 4213

38) HRAT AR IS 2428-1964........... ¥ gefad gl
Indian standard IS 2428-1964 deals with.
a) <¢q @ gafeeur/Classification of taps
b) #Hredr 92 & gefferzor/Classification of metric threads
c) FrETes feg @ gefiezur/Classification of carbide tips
d) ursw =& % aefieon/Classification of pipe threads



39) ISO 4&d=T AR &1 F@eY ....... q gl
ISO 4 cutting tool refers to;

a) ®9] dciel 3ieR/Straight turning tool
b) 3ifwde adsr g ®iFeT 3iem/Offset turning and facing tool
C) a1ss et a3t aaa em/Wide nose square turning tool

d) 3rgarasT 3ieR/Recessing tool

40) @3 SR ... o fafda g
Sine bar is made of:

a) TUrRd fAsher seara/Stabilized Nickel Steel
b) TuriRd wIfdTe gEard/Stabilized Chromium Steel
C) TuRIehd e seura/Stabilized Carbon Steel

d) TUrRed Ies sEard/Stabilized Tungsten Steel

41) 120 m/min & &der afad & fav, Ife Sig =g 25 mm,50mma 75 mm g, o a% (Rdse)
Hrpm......... grem|

For a cutting speed of 120 m/min, if the job dia. are 25 mm,50mm and 75 mm, the rpm of
the spindle will be.

a) 756,509.3, 1528
b) 600,659,1624
¢) 1528,764,509.3
d) 800,572,450

42) wrETgs fAfase & ggard # N & dedd ... q gl
In the designation of carbide inserts, N refers to;

a) HeT 3mehica/Basic shape

b) Iegar @@/ Tolerance class

c) s =ar/Nose radius

d) 9 st & Fei/Class of chip breaker

10



43)

44)

45)

46)

faffed & QS0 srgures =R, S uRgradr A= SR & fore Suged 872

Which of the following maintenance schedule is suitable for high precision machine
tools?

a) el sregaTert/Preventive maintenance
b) wmiFds teqarersi/Predictive maintenance
C) &t 3fedrei=i/Break down maintenance

d) ee 3fgdrest/Late maintenance

ATHIONT Thcdel AT fadeh Fded & g fhdet g7 IR 87
How many forces are acting during orthogonal cutting and oblique cutting
a) 1,2
b) 2,3
c) 21
d 11

350 mm e AT 50 mm S@E F UF g% N & W Fdd & U @S FAT H T
TIMT| FeT T 358H/MAeAe qar ufa aRsraor & faw Hig 0.5 mm &l

Find the time required for one complete cut on a piece of work 350 mm long and 50 mm
in dia. The cutting speed is 35 meters/minute and the feed is 0.5 mm per revolution.

a) 3.56 fAse/minutes
b) 3.65 fA=re/minutes
c) 3.34 fAse/minutes
d) 3.14fAsre/minutes

40 m/mina#r el AT H SR AT g, dY ol B AY(@sH) 400 mins g, Vi = C e
I §1 gt 31900 Mins.deh & HehoddToll STUAH shelel It T Il FIMT| N 1 AT 0.58

The life of a lathe tool is 400 mins. when operating at a cutting speed of 40 m/min. given
the V" = C, Find the highest cutting speed that will give a tool life of 900 mins. The
value of nis 0.5

a) 32.13 m/min.
b) 26.67 m/min.
¢) 41.45 m/min.
d) 47.35 m/min.

11



47) 100 mm @ed §R & 30 deg.& FoT H o I & U 3@ Fod yATdr 9% Fr A F:
3Tehele &L
Calculate the height of the slip gauge pack required to raise a 100 mm sine bar to an angle
of 30 deg.

a) 50 mm
b) 45 mm
c) 25 mm
d) 30 mm

48) ard el JATSAT H .......... & AMfAT & eIt 3rdda e sa1d
In metal cutting operations discontinuous chips are produced while machining

a) #R gery/Brittle material
b) @== uwerevDuctile material
C) #g uerd/Soft material

d) FaR gerd/Hard material

3 1 1 1.
49) 64— —[2— of 13—]X42—|S

9
a) 451_6

10
12
16
10

b) 53
c) 35

3
d)38 =

50) 8cm ured SerS @A 20 cm FEiS T WIS UeH & 3G fhe 872
What is the volume of a hexagonal prism, which is having a side length of 8cm and height
of 20 cm?
a) 1900 V3 cm®
b) 1270 V3 cm®
c) 1920 V3 cm®
d) 1720V3 cm®

51) 1°7'12" - 9'8"is=
a) 5320
b) 55' 4"
c) 52'14"

d) 58' 4"
12



52) for=faf@d & & FHHIOT HoysT o ured la-& g2
Which of the following are sides of a right angled triangle?

a) 2,4,5
b) 3,5,6
c) 6,8, 10
d) 7,8,9

53) UH FR A 6°C A 270 km #r gt dF H| I FR FAW AT & T &, O He 450km dr
ol T e A AR e wHg ween?

A car covered as distance of 270 km in 6 hours. If the car travels with a uniform speed ,
how much more time required to travel a total distance of 450 km?

a) 4 =e/hrs.
b) 5&erhrs.
c) 3gc/hrs.
d) 3 gerhrs. 30 Asre/minutes.

54) tHeic300 HeX 54 H%3s # glsdr gl 3t A fhdar g7
An athlete runs 300 meters in 54 seconds. What is his speed?
a) 12 km/hr.
b) 20 km/hr.
c) 28 km/hr.
d) 36 km/hr.

55) Ho HeIdT & faw AT A FEAT ... gl

a) 18
b) 20
c) 16
d) 14

13



56) e wRi= A foger: Haso vomet . F YaTaH & fore IR 8

A point to point control system in a CNC machine is suitable for ............... operations.
a) ad=1/Turning
b) |r=/Grinding
c) au=/Drilling
d) fafes/Milling

57) 38 T T 94T oPTU, S ThaAUT e T8l gl
Identify the fit, that is not a transition fit.

a) f3® fhe/Shrink fit

b) ger fhe/Push fit

c) ese e fhe/Light keying fit

d) 39dea & & g =gi/None of the above

58) 60°............ TT F IHET er B

a) 2m
b) w/2
c) /3
d =

59) TTT a% & HEY ........... gl
TTT Curves refers to:
a) TI8HA, ¢del I TW@X g/ Time, Travel and Temperature curve
b) €W=R, TA T ¢eewiee aw/Temperature, Time and Transformation curve
C) TR, ¢wrmiaer g <fEear asw/Temperature, Transformation and Testing curve

d) ¢=afAed, =X g ergA g/ Transmission, Temperature and Time curve

60) @BW Feaclss FEU & AT Feed Gl .......... a® gl
The carbon percentage ranges from for Hyper eutectoid steel

a) 0.8t02.0%
b) 0.02t0 1.2 %
c) 0.002t0 1.2 %
d) 0.06t00.12 %

14



61) 95 F YA T ............ EaRT ATAT ST el gl
Effective diameter of a thread can be measured using

a) & I3 AsHATe/Screw thread micrometer

b) der arr faf@/Three wire method

c) 3a IR AfYr &1 a3 Fa gu/Selection of best wire method
d) 35 @sivAll of the above

62) #ASHIAANIIE T F&IaT AA (Ra ALA)........... gl
The roughness value (Ra value) of grade N1 in microns is
a) 50
b) 0.1
c) 0.025
d) 0.2

63) fafatr geif @ urcd a8 Yardt & ghR #T Ao |
Match the type of materials for realizing various parts.

A) zfel=a sisyBinocular body a) & gorar argr/Grey cast iron
B) 3ot SoiaT e b) 3IuaiRa Rear &gr & ag
Diesel engine piston Un-heat treated wrought iron
C) s & fafweT g c) vdATs g
Lifting hook of a Crane Aluminium alloy
D) 3= aRYEHdr o &1 3 d) gAf coriRes
Bed of high precision lathe Thermo plastics

a) A-c, B-a,C-b,D-d
b) A-c¢,B-aC-d, D-b
c) A-d, B-c,C-b,D-a
d) D-b, C-a B-c A-d

64) fraSd BIHAFEESS F ..cooeeee s wed g

Phenyl formaldehyde is also called as

a) cwater/Teflon
b) PVC
c) frarer/Phenol

d) s*emse/Bakelite

15



65) ‘EieTer UTd H HiA-AT gET LT fAHH dca §7?

Which is the second major alloying element in ‘monel’ metal.
a) fasrer/Nickel

b) &i=/Zinc

c) drsr/Copper

d) #Heeira/Manganese

66) dfaT T foet & fAmemg @ &gd ol
Alloy of Copper and Tin are termed as

a) &reg/Bronze

b) drae/Brass

C) s¥qra/Steel

d) 3udera @Al of the above
67) =% Rsu@EisE) ... Q gefaa §

Kerf width is a term associated with

a) oI &d=i/Laser cutting

b) EDM
c) PDM
d) warafas fAfeee/Chemical Milling

68) vefAfaae fAYUrg & FEO................ gl
Young’s modulus of Aluminium alloy is
a) 207 GPa
b) 120 GPa
c) 70 GPa
d) 210 GPa

69) el & faw e &1 R o & AU AT TgFd HRAT ATH Hla-a1 §?
Which is the commonly used Indian Standard for specifying fits for holes?
a) 1S:2710
b) 152709
c) 152711
d) 152708

16



70) f3or 7 g AT e W AR g
The point angle on drills depends on —

a) 3o &1 3maATd/The size of the drill
b) 7 &1 9w/ The type of machine
C) &I & 9erd/The material of the work

d) f3er @1 RPM/The RPM of the drill

71) us g & 3id ®R) & yaorT (feafoer) $r gfmar & ...

The process of bevelling the end of a hole is called -
a) #r3ex Sier/Counter boring
b) @3ex f&fFer/Counter sinking
c) Tdic wRASpot facing
d) §fAs7/Reaming

72) H7g6 faeataiaa & & ra e &1 82
H7g6 belongs to which of the following fits

a) o Tourer fe/Loose running fit

b) aReewrar Femss fhe/Precision slide fit

C) am#Eg Ifvurer fke/Normal running fit

d) 9rerHaT fhe/Transition fit

73) TAG TIT oo o [fFa &

Surface plates are made of

a) 3Td U5 Taar Tra/High grade cast steel

b) Fe# ®ivte gofar @gr/Fine - grained cast iron
c) Asreng seard/alloy steels

d) Rear aerwrought iron

17



74) TR H T A & AT BA gof A #7 3T X god dU & hE Her w Al fhar
ST 87
Which part of the lathe is locked while the form tool method is used for turning taper ?

a) siFar3s e/Compound rest
b) ¥=r/Carriage
) o Terd/Tail stock

d) g5 Ters/Head stock

75) HAR AP AR harATaci G FolE H 36T ..o gl
The purpose of left hand spiral flutes of the parallel machine reamer is to —

a) 7 Fr a1fa der=rSpeed up reaming
b) ater g s==/Make a round hole
) IR # g & Ta¥ & A F Uehell

Prevent the reamer from screwing itself in to the hole

d) $FR 1 331 Y@=/Keep the reamer cool

76) UHATADS ............ garT fafafese gl
A Sine Bar is specified by

a) sofel hal & & @ gi/Distance between the roller centers
b) s s & ware/Length of datum surface
c) saar @ oiars/Length of the rollers
d) @3 $r wers/Length of the bar
77) Hel R T aEdfdsh FHR & T F Fa A ... Fed &l
The difference between basic size and actual size is called —
a) fre/Fit
b) @gadar/Tolerance
c) faaer=/Deviation

d) 3farer/Gap

18



78) fhcH HIHRAT AT YoTell H, BT A& ......... giad a3 gl
In Indian standard system of fits, small letter indicate-

a ) emwe/Shafts
b) f&s/Holes
C) TR/Tapers
d) fBsame/Radii

79) CORTYATIIH, <9 AIES H ME............ & HAT grem|
In a plug gauge the Go side will have a diameter equal to the

a) "cHh & HAfHaHA HreeR/Maximum size of the component

b) & @1 =g=TdA 3mHR/Minimum size of the component
C) Tesh I H 3ThR/Basic size of the component

d) gc& &1 aredafdes 3msR/Actual size of the component

80) Hedr ABHIHAEI T IJATHS ........... gl
The least count of a metric Micrometer is —

a) 0.001 mm
b) 0.01 mm
c) 0.05mm
d) 0.02 mm

kkhkhkhkhkhkkkkkhkhkikikik
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